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(capital budgeting)
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(distribution system design)

¢ >S=2XD)







min 2 X Cj; X
S.t.

XX Sy
2 Xi;=D;

Xij=0







|.P.)
1,365,000

A

: 1000

max 2x; + 3X,
S.t.
195x, + 273x, < 1365
4x, + 40x, =< 140
X4 < 4
Xy, X, = 0,
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ub=14.00
Ib=14.00




max 5x, + 8X,

S.t.

6X, + 5%, < 30

Ox, + 4x, < 36
X, + 2%, <10

Xy, X, = 0,




(1)
max 5x, + 8X,

S.t.

6X, + 5X, =< 30

Ox, + 4x, < 36

X, +2X, <10

Xy, X, = 0

: X, =143 Xx,=4.29 o.f.=4143




(1)
max 5X; + 8X, max 5X; + 8X,
S.L. S.1.
6x; + 5X, < 30 6x; + 5X, < 30
Ox, + 4Xx, < 36 Ox, +4x, < 36
X, +2X, < 10 X, +2X, < 10
X4 <1 X4 = 2
Xy, X, = 0 Xy, X, = 0

X, =1,x,=45,0f. =41 X, =2, X, = 3.6, of. = 38.8




(1)
max 5X; + 8X,
S.1.
6Xx; + 5X, < 30
Ox, + 4Xx, < 36
X, +2%X, =< 10
X4 <1
X, Sy
Xy, X, = 0

xlzl,x2:4,of.:37

max 5X; + 8X,

S.1.

6x; + 5X, < 30
Ox, + 4x, < 36
X, +2%X, =< 10
X4 <1
X = 5

Xy, X, = 0

xl:O,x2:5,of.:4O







(2) ——
max 2x, + 3X,

195x, + 273%, =< 1365
4x, + 40x, < 140
X4 < 4
X, X, =0, X



Ib= 13,18/ 14.58

(x1=2 x2=3.26)

x1>3




The End of Chapter 7




